Class 7 Worksheet 4

i3
EED B 4
St. Mary’s School, Dwarka
Holiday Homework
Class: VII
Worksheet 4

Subject: English

General Instructions:

1) The work should be done neatly and systematically.

2) The given questions are to be done in the English notebook.
3) Attempt all questions.

Q1. Read the following passage carefully:

In the depths of tropical rainforests, a fascinating event occurs — hundreds of tree species bloom together
in perfect harmony, even though they are often miles apart. This phenomenon, known as synchronized
blooming, has puzzled scientists for decades. Despite being of different species, these trees somehow sense
the same environmental signals and bloom at the same time, like members of an invisible orchestra.

The exact reason behind this coordinated blooming is still unknown, but researchers believe it may be
influenced by seasonal changes, rainfall patterns, and even the phases of the moon. What makes this more
surprising is that many of these trees are not closely related, and yet they participate in this grand natural
event.

One major advantage of synchronized blooming is that it increases the chances of cross-pollination, which
is essential for the survival of plant species. It also attracts a wide range of pollinators, such as bees,
butterflies, and birds, supporting a rich and diverse ecosystem. This collective flowering creates a short
window of abundance, which helps these trees outcompete seed predators by overwhelming them with
seeds.

Scientists continue to study this mysterious event, as understanding it better may help protect the delicate
balance of rainforest biodiversity and respond to the effects of climate change.

Based on your understanding of the passage, answer the following questions: (5x1=5)
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I. What is one major advantage of synchronized blooming mentioned in the passage? 1)
a) protects trees from insects

b) ensures trees grow taller

c) increases chances of cross-pollination

d) delays seed dispersal

ii. What does the phrase ""an invisible orchestra™ most likely suggest in the context of the passage?

a) A group of trees making music together 1)
b) A musical event held in the rainforest

c) A well-coordinated but unseen natural event

d) A concert organized to raise awareness about deforestation

iii. Why is it surprising that many of the trees bloom together? 1)

iv. Which of the following can be inferred from the passage? 1)
a) All blooming trees belong to the same species.

b) Human activities are strengthening environmental signals.

c¢) Synchronized blooming supports a wide range of wildlife.

d) Lunar cycles have no impact on tree blooming.

v. Replace the underlined word with its antonym from the passage: 1)
The process of blooming in these forests is completely random.

Q2. Write a story in 100-120 words with the help of the following beginning. Also give a suitable
title to your story. 3)

It was a bright and breezy morning when | stumbled upon a dusty old book in my attic. Curious, | opened
it and was startled to find a glowing map tucked between the pages...

Q3. Fill in the blanks with the most appropriate option: (2x4=2)
The class decided to organise a (i) for the local orphanage. Everyone contributed (ii)
money and essential supplies. The teacher praised them for their (iii) effort and
encouraged them to plan more such events (iv) the year.
I. a. picnic b. trip c. donation d. drive
ii. a. several b. little c. some d. few
iii. a. collective  b. careless c. urgent d. private
iv. a. besides b. over c. during d. between
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Q4. Fill in the blanks with the most appropriate option: (x4=2)
The little puppy looked (i) as it sat alone in the rain. A kind passerby (ii) down
and picked it up gently. He wrapped it in a towel and took it (iii) . The puppy wagged its tail
vy .

I. a. cheerful b. helpless c. furious d. loud

Ii. a. jumped b. walked c. bent d. lay

iii. a. away b. inside c. ahead d. around

iv. a. thankfully b. lazily c. silently d. proudly

Q5. Read the following extract and answer the questions that follow: 2x1=2)

Ice floes hid

Beyond all knowing—
Planes that ride where
Winds are blowing!

I. What does the phrase “ice floes hid beyond all knowing” suggest? 1)
a) The ice floes are dangerous and must be avoided.

b) The ice floes are hidden in mysterious and unknown places.

c) Ice floes are easily found on every map.

d) The poet dislikes icy places.

ii. According to the poet, where do planes ride? (1)
a) through deep oceans

b) over the ice floes

c) where the winds are blowing

d) beyond the mountains

Q6. Why was Swaminathan relieved when Rajam admitted he did not know how to play cricket?
(Answer in 30-40 words) (2

Q7. How does Newton's use of a second prism show his spontaneity and commitment to scientific
truth? (Answer in 30-40 words) (2

Q8. From the poem, what can you infer about the fishermen’s values and attitude towards their
work? (Answer in 30-40 words) (2)

Q9. What is the significance of the first rain in the story? How does it serve as a turning point?
(Answer in 50-60 words) (3)
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Activity:

Q10. Draw Mandala Art with seven concentric rings or squares on a cardboard, each representing
a color of the rainbow (Red, Orange, Yellow, Green, Blue, Indigo, Violet). (2)
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Subject-Hindi

ged 1 I B SRIEde Ut fou e uwsl & Ik difsle— (1x5=5)
318 Il I Uleldl ®eell G Sildel i agd deeayyl & | wcdls, SeIaldl, HAslelsfa
3ii% 7AEeeT S Il & ©d dgdT Sulel dolld ¢ | 3 e G AT d ADRICHD
deIare wrel 3 ASigd fRed el 9 daq ®ed €| 3D el Bl UG, T o
®acl 3d fole afcw guwl @ fae off e 3@ 3ol ywga ®wd & | 59 & g
Jcdl ®! 31el Sfladl 3 3ard 8, dl sdrI Afaded faawar € 3l & WA H eD
31cei @fcy © wu 3 Sl Sid & | 318 el ® Uleld @ §dl 31Ual <disl @l off dedw
gell Abd & | 3 e sdt grl @ ufd weregeifd il wAomsie?l © el FIalR Bed D
foe offa owa €| o9 &d wcars 3iiw SHEcR © e sfid &, o gar fRed Fogd
gld ¢ 3fi aRI 3icoifawara gedr & | 318 el I Uleld ®rel W & of ®del 31Ual
foe afcw smel ufRar sk wemsr © fawe off v wfeda st =0 sifdsr sonm wwd
€ |gA® 3IcTdl, 31T8 Jcel Gl Sildel @ Teilfdedl ®I w6 deal d off dca mwa &
3 &t @l favfer ol @} eterar yarel wwa €| S & S el ®I MUl Sfidel i
ureifdA®dr ad €, dl gd 31Uel ¢l&ell @l Uld ®vel A 3iftie Awel 8ld & 3iiw g sitaet
d wqite 3 enfad aedl 81 s@ UdrR, 38 Hell B dATced AR Afdddld 30T
Aol Sfldea 3 gga sifdie 8, 3w &dt g8 3Ma Sflaed A 3MUeE B GeIrE Bel
TIfee |

(1) =/a &1 dfcet @t 3 oftast 3 3amd &, d@ s aen Fawar &7

(@) ufeerar

(@) stcafaaizar
(a1) wafeaca

(e1) Htocet

(i) dica &t fasoromr waeren wveat & oft dca @wa € 7
(®) sflaeT I 31UeE &I

(@) gzl @I fader e ol

(a1) Sftaer @t Teilfcel @I |

(ar) fw=it o erar ®e oI |
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(iil) fFeafafea weer(A) aen oo ((R) @) wregdes deor 3fad fdwea o1 wre
wdifste |
®erel (A) 31 g edls 3T SAFKRI © @rel sid €, dl gar Red dsed sid &
31T IR 3icoifagar @ ¢ |
®rvl( R) Zaacdt @ifea @ e 3ridea orl off e fawel o ¢ |
(@) ®erer( A) aen srer( R) &el areTda ¢ |
(@) wered( A) dreid & aen ool (R) = 2 |
(31) weret( A) =adl € cifdst ®drv1( R) d1c1a @ |
) (A) aen wror(R) et =1l € |aenm ®re1( R) 3w®! wd @men owdr ¢ |

(V) ot v deaw Serel doliet & daa Brd &/
(V) ‘sragfe’ @ fdeilema srcarer 3 @ Blcwy fofwe |

fRefofa vesdt & 3w dfse— (1x5=5)
Ueel 2 AR Bell D T FIel of 78 & | diaeI 91 Iwaifdd 2 el sl Bl Blel-—=l
A 87
ugel 3 14, 18, 22, 29 3 w3l @l 2kl A fefae |
uZe 4 ‘3id Al ®I il S clidifad oI 31¢f adise |
ued 5 ‘3151 A7) AEGl o Ad Bl 3161 WS | —s7 aiae A A dlel-Al el
ufRsvare faeier o1 87
Uee-6 AT A<l deld ¢ |

s¥ digel A Rxdifdd Ug I Adddel ol 3a18wvl feifae |
yeer-7 fReefoifka wesil & e dfoe— (1% x2=3)
(®) Raer @ Awes arett afcd o ‘Al weor o=l walfta foar arn &7
(@) ‘wer Ud} Segad 99T B widar 9 IR 3 da uet den sfiaer sften @ @ &7
Al &l 31UD Sildel i oIl dgcd & ¢
a1 8 fAsafaf@a veell & s dfse— (1x2=2)
(®) HAERIST Qlde] & dIG &fedelyz @I Icdl T Bled do17
() daewrst @t qen erd eft?
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Ueel-9 31U Il @l giceell fow umr @Idla ®vdl sw®I avia mwd e 3mue fA= oI

o3 fefae —

(5x1=5)

U210 ®Ic1 @I 2ol el eb gel &l ®ersl el o=t sequeielt awg & sese |
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Subject: Sanskrit

fAder- 1 Yacd ULARIE] 3cavd dvgmd YfaerRe v fowad |
2 UeeTreld, Scawd, Piarie fafeca Raavenonfa Y=amfea wwofier |
3 oRiA s ,Yay ¥d TUT orad ¥d cretle |

yest 1 seifofd el ufdar yeeret sard - (1x5=5)

s a1 facarern 3ifed | 11 fdqarere oird @e dxla sifed | 36 s feleen feifeisn o
feet |wd 3ifa Noemn wafed | feleidn BEe Toidd ulsdfed | Tdue]  31eIUbIee cfddcdd]
3caadial 3ifwd | d 3131 3iGeliete], aAeIzamons, fadtore] dmdfed |d BrEnvne waidiivr famraes od
o | o191 facpne®d oEm ufedfdor ~afed Q4 eieieer usfed | fdgamert ed: gywawmier 3ifc
31f%d | 311 3reiifal geabifal 31fT @feet | qramier sem fawsfe, vefed, fomafea @ | 31 BEm
URddd], AAIRUE IS T usled | geadmicrd w1d B qwild sufaerfed |

(i) fereimr @I wied usafed?

(@) gL

(7a) areT®IoL

(s1) BT

(&r) sremrey

(ii) =rdurer sreamucrete], @ifadcdd ®iqerer 31w !
() Seaary

(Ra) HeATERIH

(dr) fotaotay

(&) wgwet

(iii) orEm ®e vsfe?
(65) HellRNaleT

(=a) =dieter

(a1) faraior

(a1) 3meTedel

(iv) wid orm o3 quiid sufaerfe?
(v) wtsEr
(Ra) geci®IeTR)
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ueel 3 feser wafticar SRRRI quuone, sienfa wega forad |
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ueet 4 sreifaffa wae sroErm faauafd faear Raavemenfa qea -
(%xa=2)

o — fdumoreer , sft, smwrefd, ®Y |

%51 5 APoRI Uacas 3fela srermds Reawernfa yrea - (Y6 xa=2)

PO - 3, OO , €4 , W

51ee1 6 sreiifefRay Raaeemy ugfd g weisa aaenfd oea - (b x2=1)
(1) stem dHiew ------ ( =are + @ear ) gAGeR otafw |
(2) aret®ds ------ ag ( 9191 +orear ) us ueld |

ueel 7 Raaifed yae smyce ued fedlaae - (Y% x2=1)
(1) wdar wamaciast e |
(2) womRm fUar wrersTe Iaeone 3reed |

Jeel 8 eIsTeld sifle fawma - (Y6 xa=2)
HAEE ; QU , AU , fauor

yeet 9 sreiifaffareT aeee oroR Yy aue o fama - (1x2=2)
(1) afseaia
(2) mdfea

D

ufReisen ®rl

312et 10 it foisit @t fast ot werEr @ cefse| (5x1=5)
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Subject: Mathematics

No. of questions: 10 M.M. 25

Q1: Choose the correct answer: (2)
(i) What is 8Kl equal to?

(a) 8000 L (b) 800 L (c)0.08 L (d) 8L

(if) What is the value of 25.25 + 10?

(@) 1.525 (b) 15.25 (c) 0.02525 (d)2.525

Q2: Fill in the following blanks: (2)
(i) 3.763 x ---- = 3763

(i)256 Kg=.....g

(iii) ---- x 1000 = 6.8

(iv) ---- + 100 = 0.045

Q3: Represent 1.3, 3.8 and 4.1 on the number line. @)

Q4: Find the value of the following:

(a) 15-9.363

(b)5.28 -1.4+3.116 (2)

Q5: The sum of three decimals is 450.63. What is the third decimal, if two of them are 126.53 and 95.54?
)

Q6: Write the following as fraction in lowest terms: 3)

(i) 0.066 (i) 0.75 (iii) 0.944

Q7: If 2.54 cm makes an inch, how many inches will 73.92 cm make? 3)

Q8: Find the area of a rectangle whose length is 5.6 m and breadth is 3.5 m. (3)

Q9: Find the ratio of the following in the simplest form: (€))

(i) 75 paise to Rs 3
(i)3m5cmto35cm
(iii) 48 min to 2 hours 40 min
Q10: Activity-
Using a 10 x 10 grid and colours, find the product of decimals 0.7 x 0.3 on a graph sheet. (3)
Do the activity in the Maths lab file.
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Subject: Science

1. Aman accidentally touched a metal spoon kept in a hot bowl of soup and felt a burning sensation.
Why did the spoon become hot? 1
(a) Metal attracts heat from the air
(b) Metal is a good conductor of heat
(c) Heat is produced by the soup only
(d) Soup turns metal hot by changing its state

2. Arjun noticed a yellow thread-like plant growing over a tree that had no green leaves. What kind of
nutrition does it show? 1
(a) Autotrophic
(b) Saprotrophic
(c) Parasitic
(d) Symbiotic

For question Q3, two statements are given- one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer to these questions from the codes (a), (b), (c) and (d) as
given below.

(a) Both A and R are true, and R is correct explanation of assertion.

(b) Both A and R are true, but R is not a correct explanation of assertion.

(c) Ais true, but R is false.

(d) Ais false, but R is true.

3. Assertion (A): Metals feel colder than wood on a winter morning. 1
Reason (R): Metals are good conductors of heat, so they transfer heat from our hands faster.

4. Identify the following parts of stomata. Write the function of stomata. 2

5. Your teacher demonstrated the following activity during a Science practical class, wherein a metal
rod with equidistant nails fixed with wax, was heated using a burner. As the rod got heated, the nails
began to fall. What will be the order in which the nails will fall and by which process? 2
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6. Distinguish between Sea and Land breeze with the help of a well labelled diagram. 3

7. After a heavy meal, Anaya felt sleepy and sluggish. Her mother told her, “Your body is busy digesting
food.” 3
a) What happens to the food in the small intestine after digestion?
b) Why is the small intestine long and coiled?
c¢) How do the nutrients get absorbed in the small intestine?

8. During the rainy season, Radhika noticed that her mother was very busy cleaning and keeping things
safe from the fungus attack. On seeing this Radhika also started helping her mother. 3
a) What is fungi?
b) What is the mode of nutrition in fungi?
¢) Why do fungi appear during rainy season?

9. During summer vacation, Somya and her younger brother Rihan visited their grandmother’s village.
One afternoon, they noticed something interesting. The iron hand pump outside the house was very
hot, while the wooden handle on the door of the shed nearby remained cool, even though both were in
direct sunlight.

a) Why did Rahul feel the iron hand pump to be hotter than the wooden handle even though both were

under the sun? 1

b) What kind of materials are iron and wood in terms of heat conduction? 1
¢) Imagine you are designing a cooking pot. What kind of material would you use for:

1) The body of the pot il) The handle? 2

10. You are provided with a metal spoon, a plastic spoon, and a wooden stick. Conduct an experiment to
find out which of these materials is a better conductor of heat. Use the following materials: small
pieces of butter/wax and a bowl of hot water.
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Follow the steps below and record your observations:

Fix a small piece of butter or wax at one end of each item (metal spoon, plastic spoon, wooden stick).
2. Place the other end of each material into a bowl of hot water (ensure the wax end remains outside

the water).
3. Start a stopwatch and observe which butter/wax melts first.
4. Record your findings in the table below:

.. | Time Taken for W t .
Material me a'en .Or ax to Star Did the Wax Melt? (Yes/No)
Melting (in seconds)

Conductor or
Insulator

Metal
Spoon

Wooden
Stick

Plastic
Spoon

a) Which material conducted heat the fastest? Why?
b) Which materials did not allow the wax to melt quickly?

c) Based on your observations, what do you understand about conductors and insulators of heat?
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Subject: Social Science
No. of questions: 10 M.M. 25
Q1. What is the view of historians regarding the origin of ‘Rajputs’?
Q2. Define Apartheid.
Q3. Who were known as Samantas?
Q4. Describe the irrigation system of Chola kingdom
Q5. Differentiate between sial and sima.
Q6. Mention any four uses of rocks and minerals.
Q7. Sedimentary rocks are formed from sediments. Give a reason.
Q8. ‘Discrimination is evil. How does it affect society?
Q9. Name three powerful kingdoms of the early medieval period. Mark them on
the political map of India.
Q10. What do you know about the military achievements of Rajaraja | and Rajendra Chola? 5

W W NDNDNDNDPEFP PP

(6]

Activity: Topic: Voices for Equality, Research and Presentation on Inspiring Figures.
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Make a report on A3 sheet

@ Research individuals throughout history and in the present day who have championed the cause of
equality in different areas (race, gender, disability, etc.).

@ Choose a person or a group of people who have fought for equality (e.g., Mahatma Gandhi, Rosa
Parks, Malala Yousafzai, disability rights advocates).
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Subject: Computer Science

Tick the correct option.

M.M. 25

1x4=4

1. What is the branch of computer science that focuses on developing machines which can think and work

like human beings?
a. Human Intelligence b. Natural Intelligence

2. Al can be divided into how many categories?
a.l b.2

c. Artificial Intelligence

c.3

3. Which category of Al can perform dedicated tasks with intelligence?

a. Weak Al b. Strong Al

4. Which of the following is an example of Weak Al?
a. Drones b. Self-Driving Cars

Solve the following Puzzle

5. I can play chess or recommend a show,
But beyond one task, I just don’t go.
From Siri to spam filter, I’'m your aide,
Yet outside my skill, I can’t invade.
Hint: | specialize in only one task.
Who am 1?

6. | think like a human, or so they say,
Learning and reasoning in a flexible way.
| aim to match your intellect and mind,
But in the real world, I'm hard to find.
Hint: I'm the bridge between narrow and super Al.
Who am 1?

7. 1don’t think, I don’t feel, I just repeat,
Trained with data to perform and complete.
I’m not conscious and I lack a will,

But in factories, | show great skill.
Hint: I'm the current practical form of Al.
Who am 1?

8. I listen, I talk, and I understand,
From Alexa to Siri, I lend a hand.
I deal with language, words, and tone,
I help your smart device feel less alone.
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Hint: I'm how machines understand human language.
Who am 1?

9. I help computers learn without being told,
With patterns and data, my power unfolds.
I’m not hardcoded; I improve each day,
In the world of Al, I lead the way.
Hint: I'm a key method of Al that gets better over time.
Who am 1? —

Fill in the blanks. 1x8=8

100 is the branch of computer science that focuses on developing machines which
can think and work like human beings.

11. Machine based on ............... Al performs specific tasks.

12, Al surpasses human intelligence.

13. IBM’s Watson is an example of ....................... .

14, .. Al is in the hypothetical stage.

15 is the game gives the answer in different languages.

16, v, block of MakeCode Arcade is used to perform mathematical calculations.

17, . Al is in the hypothetical stage.

Find the output of the following program code. Also write its use in MakeCode Arcade. 1x8=8
18. remainder of 23/6

19. absolute of -931

20. max of 23 and -98

21. min of -36 and -102

22. square root of (100)

23. round (143.2)

24. pick random 0 to 15

25. sum of 23 and 14

Activity:

Note: Open the MS-Word file and write down all the practical question.
Take the snip of the programming workspace and game simulator.
Then paste it under each practical.
Save the file as a pdf and upload under the ASSIGNMENT created in MS-Teams

Design a block code programming using MakeCode Arcade for the following questions.
Practical 1: To check whether the entered age is eligible to cast the vote or not.
Practical 2: To check whether the two numbers entered are greater or smaller.
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